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Technical Note - Traffic Review 

1. Background 

1.1.1 Arup was appointed by Hong Kong Housing Authority (HKHA) to carry out a study to 

review the traffic impact due to change in development plan of the proposed public 

housing development at Po Shek Wu Road (i.e. the Site). Figure 1 shows the location 

of the Site. 

Figure 1 Location of the Site  
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2. Comparison of Development Plan of the Site  

2.1.1 According to the latest development parameters provided by HKHA on 2 May 2023, the 

parameters of the proposed public housing development in the Po Shek Wu Road Site 

has been updated, as compared to the parameters previously adopted in the approved 

Traffic Impact Assessment Report dated January 2019 (hereafter called “the previous 

assessment”). The number of public housing flats are increased and welfare facilities are 

added in the latest development parameters. Table 2.1 summarizes the development 

parameters of the Site.  

Table 2.1:  Comparison of Development Schedule of the Po Shek Wu Site 

Development Type 
Adopted parameters in the 

previous assessment 
HKHA’s latest parameters 

Subsidised Sale Flats 

(SSF) 
1,850 flats 1,904 flats 

Retail 3,000 sqm GFA 3,000 sqm GFA 

Kindergarten 6 classrooms 6 classrooms 

Welfare N/A 4,484 sqm GFA 

Population Intake Year 2026/27 2029/30 

2.1.2 Based on the information in Table 2.1, the trips related to the proposed public housing 

development, comparing two set of development parameters, are provided in the 

following sections.  

3. Review of Trip Rates 

3.1.1 The trip generation and attraction of the subject development are reviewed in this 

Technical Note and compared with those in the previous assessment.  

3.1.2 For SSF, supplementary peak hour trip rate surveys were conducted on normal weekday 

at selected existing SSF developments. Those selected developments are also located in 

the North District (i.e. same as the Subject Site), they are Choi Po Court and Tsui Lai 

Garden. Figure 2 shows the locations of Choi Po Court and Tsui Lai Garden. The 

results of the supplementary peak hour trip rate surveys are summarised in Table 3.1. 

The trip rates obtained from survey were compared against the trip rates stated in 

Transport Planning and Design Manual (TPDM) as shown in Table 3.2.  
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Figure 2 Locations of Surveyed SSF Developments 

 

 

Table 3.1:  Trip Rate Survey Results at Existing SSF Developments (pcu/hr/flat) 

Development  
AM Peak PM Peak 

Generation Attraction Generation Attraction 

Choi Po Court - 2,112 flats 0.0203 0.0103 0.0142 0.0220 

Tsui Lai Garden - 2,012 flats 0.0252 0.0134 0.0080 0.0218 

 

Table 3.2 Summary on Trips Rates Stated in TPDM (pcu/hr/flat) 

Development 

Type 

Upper Limit/ Mean / 

Lower Limit 

AM Peak PM Peak 

Generation 

Rate 

Attraction 

Rate 

Generation 

Rate 

Attraction 

Rate 

HOS 

(Average Flat 

Size 50 sqm) 

Upper Limit 0.0761 0.0573 0.035 0.0451 

Mean 0.0622 0.0426 0.0297 0.0401 

Lower Limit 0.0483 0.0279 0.0244 0.0351 

Note: The values underlined indicate the trip rate adopted in the previous assessment.  

 

3.1.3 Based on Tables 3.1 and 3.2, it is revealed that the surveyed trips rates were lower than 

the values of TPDM for both AM and PM peaks.  It is recommended to adopt the mean 
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values of TPDM for this traffic review exercise to maintain consistency with the 

previous assessment.   

3.1.4 For retail facilities and kindergarten, the estimated trips in the previous assessment 

would also be maintained and adopted in this Technical Note. 

3.1.5 For welfare facilities which is newly added in the latest development parameters, they 

will mainly serve the local community and are expected to induce minimal trips on the 

road network, a nominal traffic of total 10 pcu/hr each way is therefore assumed for 

these facilities. 

4. Comparison Results of Trip Generation and Attraction 

4.1.1 A summary of the trips related to the proposed public housing development in the Po 

Shek Wu Site is shown in Table 4.1 below. For assessment purpose, additional 10% 

increase in flat number (i.e. 1,904 flats x 1.1 = 2,094 flats) is adopted to estimate the 

traffic generated/ attracted by the Site in this Traffic Review. Additional traffic, not 

higher than 1-way 25pcu/hr for AM peak hour and 20pcu/hr for PM peak hour are 

observed. It is anticipated that the change of development parameter should not 

deteriorate the traffic condition in view of the minimal increase of Site traffic.  

Table 4.1:  Comparison of Estimated Trip Generation for the Po Shek Wu Site (PCUs / hr) 

Development 
AM Peak PM Peak 

Generation Attraction Generation Attraction 

Adopted in the previous assessment  

SSF (1,850 flats) 115 79 55 74 

Retail (3,000 m2 GFA) 7 7 9 11 

Kindergarten (767 m2 GFA) 30 30 30 30 

Sub-total (A) 152 116 94 115 

Based on HKHA’s latest parameters, and trip rates as mentioned in above Section 3 

SSF (2,094 flats) * 130 89 62 84 

Retail (3,000 m2 GFA) 7 7 9 11 

Kindergarten (767 m2 GFA) 30 30 30 30 

Welfare (4,484 m2 GFA) 10 10 10 10 

Sub-total (B) 177 136 111 135 

Difference, (B) - (A) 25 20 17 20 

Notes:  

*With additional 10% allowance for the proposed number of flats for assessment purpose, i.e. 1,904 flats 

x 1.1 = 2,094 flats. 
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5. Junction and Link Capacity Assessment 

5.1.1 To evaluate the associated traffic impact likely to be induced by the proposed change in 

population intake year (i.e. change from 2026/27 to 2029/30), year 2033 were adopted 

as the design year in this traffic review study to demonstrate the traffic condition in the 

study area 3 years after completion of the proposed development.  

5.1.2 Years 2031 and 2036 planning data of 2019-based Territorial Population and 

Employment Data Matrix (TPEDM) was referenced to identify the change in population 

in the vicinity, i.e. Fanling/Sheung Shui and Rural NENT districts. It was revealed that 

there would be a positive increase in population and employment from years 2031 to 

2036, i.e. +1.35% per annum.  

5.1.3 Year 2033 junction and link capacity assessment was undertaken according to (i) the 

estimated year 2033 traffic flows by adopting the aforesaid annual growth rate of 

+1.35% to the year 2031 traffic flows in the previous assessment as mentioned in above 

para 2.1.1; (ii) the estimated trip generation based on HKHA’s latest parameters as 

mentioned in above Section 4; and (iii) the new infrastructure, i.e. North South Link for 

improvement to So Kwun Po Interchange. The results are shown in Tables 5.1 and 5.2. 

The location of assessed junctions and links are illustrated in below Figure 3. The 

detailed calculation sheets are shown in Appendix A. 

Figure 3 Locations of Assessed Junctions and Links 
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Table 5.1 Summary of Junction Performance – Year 2033 

Junction (1) Type 

Junction Performance 

Design Case 

(Original - based on the 

original development 

parameter in the 

pervious assessment) 

Design Case 

(New – based on the 

latest development 

parameter)  

AM PM AM PM 

J1 Jockey Club Road / Po Shek Wu Road Roundabout 0.57 0.57 0.57 0.57 

J2 Po Shek Wu Road / Po Wan Road (2) Signal 12% 9% 11% 8% 

J3 Po Shek Wu Road / Choi Yuen Road (2) Signal 9% 10% 8% 9% 

J4 Choi Yuen Road / Pak Wo Road Roundabout 0.50 0.45 0.50 0.45 

J5 Jockey Club Road / Lung Sum Avenue (2) Signal 14% 46% 14% 46% 

J6 Jockey Club Road / So Kwun Po Road (2) Signal 8% 23% 8% 23% 

J7 So Kwun Po Road Interchange (3) Roundabout 0.89 0.85 0.89 0.85 

J8 Po Shek Wu Road Interchange Roundabout 0.85 0.80 0.86 0.80 

J9 Po Wan Road / San Po Street Signal 71% >100% 71% >100% 

J10 San Wan Road / San Po Street Priority 0.32 0.10 0.32 0.10 

J13 Ka Fu Close / San Po Street  Priority 0.10 0.07 0.10 0.07 

J15 San Fan Avenue / Lung Sum Avenue Signal 65% >100% 59% >100% 

J16 San Fung Avenue / Po Wan Road Signal 60% 94% 54% 87% 

Notes:   

(1) Please refer to Figure 3 for the location of the assessed junctions. 

(2) With implementation of junction improvement schemes as proposed in the approved Traffic Impact 

Assessment Report dated January 2019. 

(3) With implementation of the new infrastructure, i.e. North South Link. 

  



Technical Note  

   

277177-07 18 April 2024  

 

G:\DOCUMENT\277000\277177-07 A20 PO SHEK WU RD\09 REPORTS\TRAFFIC REVIEW\TN_TRAFFIC REVIEW V6.DOCX 

Page 7  Arup | F0.15  
 

Table 5.2 Summary of Road Link Performance – Year 2033 

Road Links (1) Direction 
Capacity 

(pcu/hr) 

Road Link Performance 

Design Case 

(Original - based on the original 

development parameter in the 

pervious assessment) 

Design Case 

(New – based on the latest 

development parameter)  

Flow (pcu/hr) V/C Ratio Flow (pcu/hr) V/C Ratio 

AM  PM  AM  PM  AM  PM  AM  PM  

L1 

Po Shek Wu Road – 

Section between 

Choi Yuen Road 

and Fanling 

Highway 

NB 3,000 2,290 2,715 0.76 0.91 2,310 2,735 0.77 0.91 

SB (2) 4,700 1,970 2,105 0.42 0.45 2,000 2,120 0.43 0.45 

L2 

Po Shek Wu Road – 

Section between 

Choi Yuen Road 

and Po Wan Road 

NB 2,800 1,910 1,925 0.68 0.69 1,930 1,945 0.69 0.69 

SB 2,800 1,105 1,140 0.39 0.41 1,140 1,155 0.41 0.41 

L3 

Po Shek Wu Road – 

Section between 

Jockey Club Road 

and Po Wan Road 

NB 2,800 1,190 1,505 0.43 0.54 1,190 1,505 0.43 0.54 

SB 2,800 1,745 1,780 0.62 0.64 1,745 1,780 0.62 0.64 

L4 Po Wan Road 
EB 900 320 310 0.36 0.34 320 310 0.36 0.34 

WB 1,800 600 225 0.33 0.13 600 225 0.33 0.13 

L5 San Wan Road 
EB 1,800 220 140 0.12 0.08 220 140 0.12 0.08 

WB 1,800 130 150 0.07 0.08 130 150 0.07 0.08 

Notes:   

(1) Please refer to Figure 3 for the location of the assessed links. 

(2) With implementation of junction improvement schemes as proposed in the approved Traffic Impact 

Assessment Report dated January 2019. 

5.1.4 The analysed results revealed the performance of assessed junctions and links would not 
be deteriorated by the change of development parameter of the Site. 

6. Conclusion 

6.1.1 In view of the review of trip generation and attraction induced by Po Shek Wu Site as 

shown in above Section 4, as well as junction and link capacity assessment in above 

Section 5, it is anticipated that the change of development parameter should not 

deteriorate the traffic condition. 
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